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BUSINESS ECONOMICS
Chapter -6

Determination of
National Income

By- LOVE KAUSHIK SIR




>y

TOPICS TO BE COVERED
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1) National Income Accounting

4 Classes.
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Transfer Income

~

Factor Income
e ————————

It is the income obtained without

- . . \
providing any factor input.

It is the income earned by providing
factor input. .

Itis a one-sided income i.e. unilateral
ﬁ
concept.

It is two-sided income i.e. bilateral
‘
concept.

Itis an unearned income.
nearne

It is earned income.

[t is not included in the calculation of

national income.

It is included in the calculation of
national 'ncome

o P —

Examples:- Gifts, Pocket Money etc.

Examples. Rent, Interest etc.
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Topic: GDP
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The nominal and real GDP respectively of a country in a particular year are ¥ 3000 Crores and
¢ 4700 Crores respectively. Calculate GDP deflator and comment on the level of prices of the

0“ V

year in comparison with the base year.
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Find nominal GDP if real GDP = 450 and price index = 120




of a country in 2010 is given at 600 Crores and price index (s given as

base year 2010 is 100. Now let the nominal GDP increases to ¥ 1200 Crores in 2018 and the
price index rises to 110, find out real GDP?

Suppose nomin A GNP










Topic: GDP & Welfare

GDP excludes the following - / page no.6.27
Income distributions and, therefore, GDP per capita is a completely
inadequate measure of welfare. Countries may have significantly different

e ———. e e e A s eenwets AT SR
income distributions and, consequently, different levels of overall well-

€)

\

being for the same level of per capita income.
Quality improvements in systems and processes due to technological as

well as managerial innovations jons which reflect true growth in oumu from

year toyear. ,

R————F L eus

Productions hidden from government authorities, either because those

engaged in it are evading taxes or because it is 1l')[gal (drugs gamblmg
| — T
etc.). C hod)



Non-market production (with a few exceptions) and Non-economic
contributors to well-being for example: health of a country's citizens,

education levels, political participation, or other social and political

\

factors that may significantly affect well- being levels.
(e) The disutility of loss of leisure time. We know that, other things
émaining the same, a country's GDP rises if the total hours of work
increase. =l —
() Economic 'bads’ for example: crime, pollutlon trafﬁc congestion etc

which make usEorse off. | Ng, » S

The volunteer work and services rendere wn:hout remuneration
—___4\

_v
_‘\dl undertaken in the economy, even though such work can contribute to

- E—

/ social well- bemg as much as paid work. =




(h)
(1)
0)

Many things that contribute to our economic welfare such as, leisure
time, fairness, gender equality, security of community feeling etc.,

Both Eosmve and negative externalities which are external effects that do
not form part of market transactions

e — — v
The distinction between production that_makes us‘better off ’and
e e e —————— —

production that only prevents us from becoming worse off, for e.g.

defence expenditures such as on police protection. Increased expenditure
- . . . . \
on pollce due to increase in crimes may increase GDP but these expenses

\'

only prevent us from 5 ecoming worse off. However, no reflection is made
# J

in national income of the negative impacts of higher crime rates. As
another example automobile accidents result in production of repairs,

output of m medical services, insurance, and legal services dll of which are
roduction included in GDP just as any other produc on
p A e N Just@s ally O _production.
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#Q. The SZ@ at current year price is called :

1. Nominal GDP.

2. Real GDP
3. National GDP

4. None of the above




#(Q. Which of the following is an example of transfer Bayment?

\
. 0Old age pensions and family pensions

. Scholarships given to deserving diligent students

. Compensation given for loss of property due to floods

. All the above.O




#(Q). &Real GDP shows:l

. Change in price only
. Change in output only. @
e ——————
. Change in both price and output —= ND"V' 1)

R ——

~

. None of the above




#(Q. Nominal GDP shows:

1. Change in price only

2. Change in output only

\/C

3. Change in both price and outpu

o

4. None of the above




#(Q. Which of the following is an example of transfer payment?

. 0ld age pensions and family pensions

. Scholarships given to deserving diligent students.

. Compensation given for loss of property due to floods

. All the above @




Z mins Summary







